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Addizioni finoa5b Nome;
Risolvi ogni problema. Risposte
H 2 + 1 2) 4
— 1.
2
3 2 + 0 H 2 3
4,
5.
5 1 + 1 6 3
— 6.
7.
N3 4+ 2 8 1 8
0.
10.
9 3 - 2 10 5
11.
12.
1) 5 . 4 12) g 13.
14.
15.
13) 4 - 4 14) 2
16.
15 3 . 1 16) 2
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Addizioni finoa5 Nome: Soluzioni
Risolvi ogni problema. Risposte
H» 2 + 1 =3 2) 4 =5
— — 1 3
> 5
3 2 + 0 =2 H 2 = 4 3 -
4. 4
5. 2
55 1 + 1 =2 6 3 = 3
— — 6. 3
7 5
N 3 + 2 =5 8 1 — 8. 4
9. 1
10, 0
9 3 - 2 =1 100 5 0
— — 11. 1
12. 2
11) 5 - 4 =1 12) 5 2 13. 0
14, 1
15. 2
13) 4 - 4 =0 14) 2 1 " 0
5 3 - 1 =2 16 2 0
[I\/I t i ] 1-10 [94]88[81]75[69]63] 565044 [ 38]
atematica 4 .\ commonCoreShestsit 11-16{31]25]19]13| 6 | O




il

Addizioni finoa5 Nome:
Risolvi ogni problema. Risposte
) 2 + 1 = 2 4 + 1 =
00 o X6) e 1
(ON©)
2.
3) 2 + 0 = 4) 2 + 2 = 3.
ON©) ON© ON©
4.
5.
5 1 + 1 = § 3 + 0 =
@ @ 00 °
O
7.
N3 + 2 = 8 1 + 3 = 8.
(ON©) ON© @) OO
@) @) 0.
10.
9) 3 - 2 = 10) 5 - 5 =
00 0O oco oo 11,
@) (ON©) ON©)
@) @) 12.
1) 5 - 4 = 2) 5 . 3 = 13
(ON®), ON®); (ONG} (ONG}
(ON©) (ON©) (ON©) @) 14.
@) @)
15.
¥ 4 - 4 = 4 2 - 1 =
00 00 oo o 16.
OO0 0O
B 3 -1 = 1) 2 - 2 =
(ON® (@) OO OO
@)
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